
1

2 4 

5

3

4 
3

December, 2003
  CUTTING EDGES/TRIPEDGES

6.0’ THRU 7.0’

CUTTING EDGES

ITEM NO. PART NO. DESCRIPTION QTY.

8CE 6.0 KIT 6.0 CUTTING EDGE 1

1 84172 • 72” SECTION 1

8CEBB2 • BOLT BAG 1

2 8500002 267 •• 5/8-11 X 2”  NC CRRG BOLT 7

3 20530 •• 5/8 LOCKWASHER 7

4 20331 •• 5/8-11 NC NUT 7

8CE 6.5 KIT 6.5 CUTTING EDGE 1

1 84181 • 78” SECTION 1

8CEBB2 • BOLT BAG 1

2 8500002 267 •• 5/8-11 X 2”  NC CRRG BOLT 7

3 20530 •• 5/8 LOCKWASHER 7

4 20331 •• 5/8-11 NC NUT 7

PARTS LIST

Diamond Equipment
6 Angell Lane • Damariscotta, ME 04543-9720

Phone 563-2227(Area Code 207)
www.diamondplow.com • email info@diamondplow.com

Parts indented are included in the carton, bag or assembly under which they are indented.

CUTTING EDGES

ITEM NO. PART NO. DESCRIPTION QTY.

8CE 7.0 KIT 7.0 CUTTING EDGE 1

1 84173 • 84” SECTION 1

8CEBB2 • BOLT BAG 1

2 8500002 267 •• 5/8-11 X 2”  NC CRRG BOLT 7

3 20530 •• 5/8 LOCKWASHER 7

4 20331 •• 5/8-11 NC NUT 7

TRIPEDGES

ITEM NO. PART NO. DESCRIPTION QTY.

5 84077 6.0’ TRIPEDGE 1

5 84075 6.5’ TRIPEDGE 1

5 84076 7.0’ TRIPEDGE 1

TKH
Note
PLEASE USE BOOKMARKS TO SEARCH INSTRUCTION SHEET.


	FULL VIEW
	PRICE LIST
	ILLUSTRATION
	PARTS LIST

	Button8: 


